EARAROBEEIERT — 2 N— IBISH —F

20174108248 (A) 8mEfAE2H

/R gl

C2— #5%—#

EZS

] ‘[%iﬂ%ﬁaﬁ] — | & (&) 1600M =

[A&E£] 17 :1,700,000  ~ 23 :595,000 § 37 :340,000 §

4 7% 1255,000 F 5 3& :170,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A=A g o4 | EIIEFL 1:44.5 4-4-3-3 [39.2| — 3 510 | FHEE (i8HH)
11| ¥737L—=F 56.0 (=) (-4) (I?])EJ PNHTEH
LYK YTYRIR BA—IILTIL J—HTr— I
- s i 3 | ARk 1:44.9 2-2-1-2 [ 39.9| — 5 455 | KEEE (fafd)
olglg|N=—T1vY 54.0 ©) ) | B TuY
RL:d—IRK7Ya2—)b B:eEYF7A KL Fif  HEER
N . N EHEZ : —~5-5- - AR ()
355 I—ILELS R i o6 FHR 1.(425>.3 5-5-5-5 | 39.8 6 <4+615) *;g;]
R:2FA4d—I K B:TF147HLA12X FHBSE
S e . - _ CREE (B
N s AEZERET S B4 e 1(.14/52.)4 1-1-1-1 | 40.4 4 (4_338) Sickl
L:7yv3Is5—L B:A—UYa w7 HEE {5—
# 3 | SHER 1:45.7 3-3-3-4 | 40.4| — 9 476 | PEARIER (BN
5 &N 3 T7 IR b 56.0 (1 1/2) -1 HEHELH
R:hIA=2T BE=-XATFv7 plitie]
SR . i 3 | FEF 1:45.8 8-8-7-7 |39.5| — 1 488 | FEMIEIE (fRf)
6 H 9| >R K> 54.0 (1/2) (-3) |MEEEZ
R:h>iZ— B:vrx—FET7LH HBBRHE
o) s % 3 | RESE 1:46.0 7-6-7-8 | 39.7| — 8 453 | WY (A#n)
d > WIRAI=R 54.0 a (-6) | KERZE
LTH XL B:¥ eI Ayl A KAl
— s AHIES : 76— — SRS (#HE)
o4 7H737 o4 el 1.(416).2 6-7-6-6 | 40.3 2 (5_267) e Rt
R:GATAS v — BAST«TFH—" HET7— L4
- N panlii:E= 146. -9-9- . — 1EREEBL (AFE)
9l7l7| X IFRITATIV "8 56.0 (11 416/24) 5999 1396 ! :1352) #HASMmER .
RN=VITL BANE—FAT1T HET7—L
® I—F—@EBIERL
13—7F— 6,8,3,1,5,4,2,9,7
Ao=5"= 6,8,3,1,5,2,4,9,7
JF=7r= (6,8),(1,3).,5,4,(2,9 .7
41—F— 6,8,1,3,5,4,9,2,7
[ N5
B 1 550 794K 1-8 1,370M & 1-8 830 &R 1-5-8 19,720M
# B 1 200M =5 920M B 1-8 1,810M EE 1-8-5 69,790
8 370 5-8 2,230 B = 1-8 4,250M
5 240M B H 1-8 6,820M

ABICOVWTRDTEEERROODE. TR LIV,




